INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0579-0088

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total

DATE PREPARED

= (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

June 1, 2011

| IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | ANNUAL BURDEN | | | | | | | | |
|--|--|---|-----------------------|---------------------------|---|--------------------------|--------------------------------|------------------------------|--------------------------------|---|--|
| | | | | | | RECORDS | | | | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- | TOTAL RECORD- KEEPING HOURS (Col. I x J) | |
| (A) | (B) | (C) | (D) | RESPONDENT (E) | (F) | (G) | (H) | (1) | KEEPER (J) | (K) | |
| 301.07.0, | Limited Permit (Business) (BSR, WW, IFA, | PPQ 537 | 345 | 11.86 | 4,092.00 | 0.02 | 65.00 | | | 0.00 | |
| 301.45-8, 301.50.8, 301.52.7, 301.85.7, | Limited Permit (Farms) (GM, PSB, Pink BW, GN, | PPQ 537 | 52 | 182.00 | 9,464.00 | 0.02 | 151.00 | | | 0.00 | |
| 301.81.9 | Limited Permit (State) (IFA) | PPQ 537 | 1 | 1.00 | 1.00 | 0.02 | 1.00 | | | 0.00 | |
| 301.38.5, 301.45.5, 301.80.4, 301.81.5, | Federal Certificate (state) (BSR, GM, WW, IFA,) | PPQ 540 | 6,231 | 80.75 | 503,153.00 | 0.20 | 100,631.00 | | | 0.00 | |
| 301.45.5, 301.50.5, 301.80.4, | Federal Certificate (Farms) (GM, PSB, WW) | PPQ 540 | 506 | 3.00 | 1,518.00 | 0.20 | 304.00 | | | 0.00 | |
| | | | | | | | | | | | |
| | SUBTOTAL | | | | 518,228.00 | | 101,152.00 | | | 0.00 | |
| | TOTAL OF ALL PAGES | | 28,244 | | 1,637,211.00 | | 332,168.00 | 3,013.00 | | 179,979.00 | |
| TOTAL - COLUMNS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c | | | | | 1,640,224 | | 512,147 | | | | |

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

TITLE OF INFORMATION COLLECTION DOCUMENT OMB NO. 0579-0088

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total

= (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| | | 1 | | | | | | | | |
|--|--|--------------|-------------|-------------------|--------------|----------|--------------|---------|-------------------|---------------|
| IDENTIFICA | | | | | ANNUA | BURDEN | | | | |
| | | | | | REPORTS | | | | RECORDS | |
| | | | | | | | | | | TOTAL |
| | | FORMS NO (S) | NO. OF | NO OF | TOTAL ANNUAL | HOURS | TOTAL | NO. OF | ANNUAL | RECORD- |
| SECTION OF | DESCRIPTION | (If "none" | RESPONDENTS | RESPONSES | RESPONSES | PER | HOURS | RECORD- | HOURS PER | KEEPING HOURS |
| REGS. | | so state) | | PER RESPONDENT | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- KEEPER | (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) |
| 301.51.5, 301.78.5, 301.81.5, 301.87.5, 301.91.5, 301.93.5, | Federal certificate (Business) (GM, PSB, ALB, Med FF, IFA, GN, sugarcane, Euro Canker, Oriental FF, P.ram) | PPQ 540 | 1,837 | 25.00 | 45,925.00 | 0.20 | 9,185.00 | V | | 0.00 |
| 301.81.5, 301.85.4 | Federal certificate (Individual) (IFA, GN,) | PPQ 540 | 25 | 2.50 | 63.00 | 0.20 | 13.00 | | | 0.00 |
| 301.45.8, 301.50.8, | Sticky Back Certificate (Farms) (GM, PSB,) | PPQ 527 | 51 | 180.00 | 9,180.00 | 0.02 | 147.00 | | | 0.00 |
| 301.31.0, 301.32.8, 301.81.9, 301.85.7, 301.87.8, 301.91.8, | Sticky Back Certificate (Business) (ALB, Med FF, IFA, GN, Sugarcane, ELC, OFF, EAB,) | PPQ 527 | 3,074 | 75.00 | 230,550.00 | 0.02 | 3,689.00 | | | 0.00 |
| | | | | | | | | | | |
| | SUBTOTAL | , | | | 285,718.00 | | 13,034.00 | | | 0.00 |

| INSTRUCTIONS: Use this form when a single information collection doc | ument involves multiple reporting and | |
|--|---------------------------------------|---|
| recordkeeping requirements. The totals of the figures in cols. should be enter | ered in item 13 of OMB-83-1: | C |
| (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; | cols. H & K = 13c. | |

TITLE OF INFORMATION COLLECTION DOCUMENT OMB NO. 0579-0088

DATE PREPARED

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/(I)$

SUBTOTAL

= (J)Average **NOTE:** The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| list as "1/6" & decimal | will display. | | | | | | | | | |
|---|--|--------------|---------------|------------|--------------|----------|--------------|---------|-----------|------------------|
| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | ANNUAL BURDEN | | | | | | | |
| | | | | REPORTS | | | | | | |
| | | FORMS NO (S) | NO. OF | NO OF | TOTAL ANNUAL | HOURS | TOTAL | NO. OF | ANNUAL | TOTAL RECORD- |
| SECTION OF | DESCRIPTION | (If "none" | RESPONDENTS | RESPONSES | RESPONSES | PER | HOURS | RECORD- | HOURS PER | KEEPING HOURS |
| REGS. | | so state) | | PER | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- | (Col. I x J) |
| | | | | RESPONDENT | | | | | KEEPER | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) |
| 301.84.4 | Limited Permit (State) (BSR) | PPQ 530 | 5,200 | 1.00 | 5,200.00 | 0.20 | 1,040.00 | | | 0.00 |
| 301.50.5, 301.52.4, | Limited Permit (Farm) (PSB, Pinkbw) | PPQ 530 | 29 | 10.00 | 290.00 | 0.20 | 58.00 | | | 0.00 |
| 301.75.6, 301.81.5, 301.85.4, 301.95.5, 301.32.8, 301.51.5(b), | Limited Permit (Business) (PSB, CC, IFA, GN, ELC, OFF, ALB, EAB) | PPQ 530 | 330 | 24.00 | 7,920.00 | 0.20 | 1,584.00 | | | 0.00 |
| 301.81.5 | Limited Permit (Individual) (IFA) | PPQ 530 | 20 | 1.00 | 20.00 | 0.20 | 4.00 | | | 0.00 |
| 301.38.3 (a), BSR | Black Stem Rust Inspector Report (State) | PPQ 543 | 10 | 20.00 | 200.00 | 0.50 | 100.00 | | | 0.00 |
| | | | | | | | | | | |

13,630.00

2,786.00

0.00

| INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and | |
|--|-----|
| recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: | col |
| (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. | |

TITLE OF INFORMATION COLLECTION DOCUMENT

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/(I)$ = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

OMB NO. 0579-0088 Domestic Quarantine DATE PREPARED

| | NO OF TOTAL AN RESPONSES RESPON PER (Col. D RESPONDENT | ONSES P D x E) RES | HOURS PER ESPONSE (G) 0.17 | TOTAL HOURS (Col. F x G) (H) 0.000 | NO. OF RECORD- KEEPERS (I) | ANNUAL HOURS PER RECORD- KEEPER (J) | TOTAL RECORD- KEEPING HOURS (Col. I x J) (K) 0.00 |
|-------------------------------------|--|--------------------|-----------------------------|--------------------------------------|-------------------------------------|---|--|
| RESPONSES PER RESPONDENT (E) 0 0.0 | RESPONSES RESPON PER (Col. D RESPONDENT (E) (F) | ONSES P RESI | PER ESPONSE (G) | HOURS (Col. F x G) (H) 0.00 | RECORD- KEEPERS | HOURS PER RECORD- KEEPER | RECORD- KEEPING HOURS (Col. 1 x J) (K) |
| 0 0.0 | (E) (F) | 0.00 | | 0.00 | (0) | 1 | 0.00 |
| | | | 0.17 | | | | |
| 3 1.0 | 1.00 | 3.00 | 0.17 | 1.00 | | | 0.00 |
| | | | | | | | |
| 1 1.0 | 1.00 | 1.00 | 1.00 | 1.00 | | | 0.00 |
| 50 1.0 | 1.00 | 650.00 | 1.25 | 813.00 | | | 0.00 |
| 154.0 | 154.00 10 | 109,494.00 | 1.25 | 136,868.00 | | | 0.00 |
| | | | | 127 022 00 | | | 0.00 |
| | | 10,100 | | | | 110,148.00 137,683.00 | |

| INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and | |
|---|----|
| recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: | CC |
| D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. | |

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0579-0088

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/(I)$ = (J)Average (T)Total (E)Total (E)Total (T)Total (T)Total

| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | ANNUAL BURDEN | | | | | | | |
|--|--|-------------------------------------|-----------------------|--------------------------------|---|--------------------------|--------------------------------|------------------------------|---------------------------------|--|--|
| | | | | | REPORTS | | | | RECORDS | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) | |
| 301.92.6, 301.51.5(a)(2) & 6(a), | Compliance Agreement (Business) (p.ram, ALB) | PPQ 519 | 1,812 | 1.00 | 1,812.00 | 1.25 | 2,265.00 | | | 0.00 | |
| | Documents Sent to State Plant Regulatory Official (Individual) | None | 250 | 150.00 | 37,500.00 | 0.17 | 6,375.00 | | | 0.00 | |
| 301.45.4 (GM) | Documents Sent to State Plant Regulatory Official (Not for Profit) | None | 15 | 103.00 | 1,545.00 | 0.17 | 263.00 | | | 0.00 | |
| 301.45.9 (GM) | Inspections of outdoor household articles (Business) | None | 15 | | 1,541.00 | 0.50 | 772.00 | | | 0.00 | |
| 301.38.5 (BSR) | Assembly and inspection of regulated articles: issuance and cancellation of certificates. (Business) | None | 8 | 20.00 | 160.00 | 0.03 | 5.00 | | | 0.00 | |
| | | | | | | | | | | | |
| | SUBTOTAL | | | | 42,558.00 | | 9,680.00 | | | 0.00 | |

TITLE OF INFORMATION COLLECTION DOCUMENT OMB NO.

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years,

list as "1/6" & decimal will display.

| | ANNUAL PURDEN | | | | | | |
|------|---------------------|---------------|--|--|--|--|--|
| | | | | | | | |
| rs, | | | | | | | |
| | | DATE PREPARED | | | | | |
| otal | | | | | | | |
| | Domestic Quarantine | 0579-0088 | | | | | |
| ols. | | 0570 0000 | | | | | |
| - 1 | | C | | | | | |

| IDENTIFICAT | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | ANNUAL BURDEN | | | | | | | |
|--|---|-----------------------------------|-----------------------|--------------------------------|-------------------------------------|--------------------------|--------------------------------|------------------------------|---------------------------------|--|
| | | | | REPORTS | | | | | RECORDS | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) |
| 201 20 E (DCD) | Assembly and inspection of regulated articles: issuance and cancellation of certificates. (Farms) | None | 7 | 20.00 | 140.00 | 0.03 | 4.00 | | | 0.00 |
| | Assembly and inspection of regulated articles and outdoor household articles. (State) | None | 200 | 50.00 | 10,000.00 | 0.03 | 300.00 | | | 0.00 |
| 301.50.7, 301.52.6, 301.32.7, 301.80.6, | Assembly and inspection of regulated articles (Farms) (PSB, Pinkbw, Med, WW,) | None | 46 | 200.00 | 9,200.00 | 0.03 | 276.00 | | | 0.00 |
| 301.81.8 (IFA) | Assembly and inspection of regulated articles (State) | None | 11 | 1.00 | 11.00 | 25.00 | 275.00 | | | 0.00 |
| | Assembly and inspection of regulated articles (Business) | None | 173 | 2.50 | 433.00 | 0.03 | 13.00 | | | 0.00 |
| | | | | | 0.00 | | 0.00 | | | 0.00 |
| | SUBTOTAL | | | | 19,784.00 | | 868.00 | | | 0.00 |

| INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and | |
|---|-----|
| recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: | col |
| (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. | |

TITLE OF INFORMATION COLLECTION DOCUMENT OMB NO. 0579-0088 Domestic Quarantine

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/(I)$ = (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| Domestic Quarantine | |
|---------------------|---------------|
| | DATE PREPARED |
| | |

| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | ANNUAL BURDEN | | | | | | | | |
|---------------------|--|-------------------------------------|-----------------------|--------------------------------|-------------------------------------|--------------------------|--------------------------------|------------------------------|---------------------------------|--|--|--|
| | | | | | REPORTS | | | | RECORDS | | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) | | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) | | |
| 301.45.4(c) GM | Conditions governing the interstate movement of regulated articles and outdoor household articles from generally infested areas. (Farms) | None | 155 | 56.00 | 8,680.00 | 0.11 | 955.00 | | | 0.00 | | |
| 301.45.4(c) GM | Conditions governing the interstate movement of regulated articles and outdoor household articles from generally infested areas (Business) | None | 10 | 5001.00 | 50,010.00 | 0.01 | 500.00 | | | 0.00 | | |
| 301.85.7 (GN) | Attachment and disposition of certificates and permits (Farms) | None | 10 | 4.30 | 43.00 | 0.20 | 9.00 | | | 0.00 | | |
| 301.48.4(d) (5) | Treatment records (JB) (Business) | None | | | 0.00 | | 0.00 | 4 | 8000.00 | 32,000.00 | | |
| 301.48.4(d) (5) | Treatment records (JB) (Farms) | None | | | 0.00 | | 0.00 | 1 | 8000.00 | 8,000.00 | | |
| | | | | | | | | | | | | |
| | SUBTOTAL | | | | 58,733.00 | | 1,464.00 | 5 | | 40,000.00 | | |

| INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and | |
|---|-----|
| recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: | col |
| D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. | |

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO. 0579-0088

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/(I)$

= (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | | ANNUA | L BURDEN | | | |
|--------------------------|---|-----------------------------------|-----------------------|---------------------------|-------------------------------------|--------------------|--------------------------------|------------------------------|--------------------------|--|
| | | | | | REPORTS | | | | RECORDS | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (A) | (B) | (C) | (D) | RESPONDENT (E) | (F) | (G) | (H) | (1) | KEEPER (J) | (K) |
| 301.48.4(d) (5) | Notification of Unscheduled flights (JB) (For Profit) | None | 4 | 10.00 | 40.00 | 0.17 | 7.00 | 0 | (5) | 0.00 |
| 301.48.4(d) (5) | Notification of Unscheduled flights (JB) (Farm) | None | 1 | 10.00 | 10.00 | 0.17 | 2.00 | | | 0.00 |
| 301.75.12 (CC) | Certificates and limited permits (Business) | None | 210 | 2435.00 | 511,350.00 | 0.00 | 1,534.00 | | | 0.00 |
| 301.38.3(e) | Protected Areas Statement (BSR) (State) | None | 2 | 3.00 | 6.00 | 0.50 | 3.00 | | | 0.00 |
| 301.45.1 (GM) | Qualified Certified Applicator (QCA) attend workshop (Business) | None | 7 | 2.00 | 14.00 | 13.00 | 182.00 | | | 0.00 |
| 301.45.2/301.50.3 (a) | Temporary designation of generally infested areas (PSB) (State) | Letter | 1 | 1.00 | 1.00 | 0.50 | 1.00 | | | 0.00 |
| | SUBTOTAL | | | | 511,421.00 | | 1,729.00 | | | 0.00 |

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

TITLE OF INFORMATION COLLECTION DOCUMENT

OMB NO.

0579-0088

DATE PREPARED

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total = (G) Average \qquad (K) Total/(I) Total = (G) Average \qquad (K) Total/(I) Total = (G) Average = (G$

= (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| IDENTIFICATION | | | | | | | | | | |
|-----------------------|---|--------------|-------------|------------|--------------|----------|--------------|---------|-----------|--------------|
| | ON OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | | ANNUA | L BURDEN | | | |
| | | | | | REPORTS | | | | RECORDS | |
| | | FORMS NO (S) | NO. OF | NO OF | TOTAL ANNUAL | HOURS | TOTAL | NO. OF | ANNUAL | TOTAL |
| SECTION OF | DESCRIPTION | (If "none" | RESPONDENTS | RESPONSES | RESPONSES | PER | HOURS | RECORD- | HOURS PER | RECORD- |
| REGS. | DESCRIPTION | ` | RESPONDENTS | PER | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- | (Col. I x J) |
| REGS. | | so state) | | RESPONDENT | (Col. D X E) | RESPUNSE | (Coi. F X G) | KEEPERS | KEEPER | (Coi. 1 x 3) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) |
| 301.45.4(c) (2) (GM) | Conditions governing the interstate movement of regulated articles and outdoor household articles from generally infested areas (Signed statement) (Individual) | Letter | 100 | 150.00 | 15,000.00 | 0.25 | 3,750.00 | | | 0.00 |
| 301.45.4(c) (2) (GM) | Conditions governing the interstate movement of regulated articles and outdoor household articles from generally infested areas (Signed statement) (Business) | Letter | 21 | 127.00 | 2,667.00 | 0.33 | 880.00 | | | 0.00 |
| (CM) | Attachment and disposition of certificates, imited permits, and outdoor household article documents (Individual) | None | 80 | 2.00 | 160.00 | 0.52 | 83.00 | | | 0.00 |
| | Attachment and disposition of certificates and imited permits (ALB) (Business) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 |
| | Documents Sent to State Plant Regulatory Official (Business) | None | 130 | 75.00 | 9,750.00 | 0.03 | 293.00 | | | 0.00 |
| | Documents Sent to State Plant Regulatory Official (Farms) | None | 120 | 75.00 | 9,000.00 | 0.03 | 270.00 | | | 0.00 |
| | SUBTOTAL | | | | 36,577.00 | | 5,276.00 | | | 0.00 |

TITLE OF INFORMATION COLLECTION DOCUMENT Domestic Quarantine

OMB NO. 0579-0088

DATE PREPARED

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/(I)$

= (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| | , and display. | | | | | | | | | |
|---|---|--------------|-------------|-------------------|--------------|----------|--------------|---------|---------------|------------------|
| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | | ANNUA | L BURDEN | | | |
| | | | | | REPORTS | | | | RECORDS | |
| | | FORMS NO (S) | NO. OF | NO OF | TOTAL ANNUAL | HOURS | TOTAL | NO. OF | ANNUAL | TOTAL RECORD- |
| SECTION OF | DESCRIPTION | (If "none" | RESPONDENTS | RESPONSES | RESPONSES | PER | HOURS | RECORD- | HOURS PER | KEEPING HOURS |
| REGS. | | so state) | | PER | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- | (Col. I x J) |
| (A) | (B) | (C) | (D) | RESPONDENT (E) | (F) | (G) | (H) | (1) | KEEPER (J) | (K) |
| 301.45.7 (GM) | Assembly and inspection of regulated articles and outdoor household articles. (GM) (Farms) | None | 276 | 2.00 | 552.00 | | 662.00 | V | | 0.00 |
| 301.45.7 (GM) | Assembly and inspection of regulated articles and outdoor household articles. (GM) (For Profit) | None | 10 | 1.00 | 10.00 | 1.00 | 10.00 | | | 0.00 |
| 301.38.3(a) | Protected Areas (BSR) (Business) | None | 20 | 24.00 | 480.00 | 0.50 | 240.00 | | | 0.00 |
| 301.38.3(a) | Protected Areas (BSR) (Farm) | None | 5 | 24.00 | 120.00 | 0.50 | 60.00 | | | 0.00 |
| 301.48.5, 301.52.8, 301.80.8, 301.85.8 | Inspection and disposal of regulated articles and pests (JB, Pinkbw, WW, GN) (Business) | None | 483 | 33.50 | 16,180.50 | 1.00 | 16,181.00 | | | 0.00 |
| 301.52.8, 301.80.8, 301.85.8 | Inspection and disposal of regulated articles and pests (PinkBW, WW, GN) (Farms) | None | 679 | 1.30 | 882.70 | 1.00 | 883.00 | | | 0.00 |
| | SUBTOTAL | | | | 18,226.00 | | 18,036.00 | | | 0.00 |

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

TITLE OF INFORMATION COLLECTION DOCUMENT OMB NO.

(F)Total/(D)Total = (E)Average (H)Total/(F) = (I)Average
NOTE: The columns will calculate automatically. If Col. E's response is somethilist as "1/6" & decimal will display.

| | | ANNUAL BURDEN | | |
|---|------------------|---------------------|---------------|--|
| thing other than annually, | i.e., 1/6 years, | | | |
| F)Total = (G)Average (| , ,, | | DATE PREPARED | |
| l in item 13 of OMB-83-1: ls. H & K = 13c. | | Domestic Quarantine | 0579-0088 | |

| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | | ANNUA | L BURDEN | | ' | |
|------------------------|--|-----------------------------------|-----------------------|---------------------------|-------------------------------------|--------------------------|--------------------------------|------------------------------|--------------------------------|---|
| | | | | | REPORTS | | | | RECORDS | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (A) | (B) | (C) | (D) | RESPONDENT (E) | (F) | (G) | (H) | (1) | KEEPER (J) | (K) |
| 301.91.7, 301.32.7 | Assembly and inspection of regulated articles(ELC, OFF) (Business) | None | 5 | 1.00 | 5.00 | 1.00 | 5.00 | | | 0.00 |
| 301.32.7, 301.91.7 | Assembly and inspection of regulated articles (ELC, OFF) (Farms) | None | 9 | 2.00 | 22.00 | 0.50 | 11.00 | | | 0.00 |
| 301.51.7(a) (ALB) | Assembly and inspection of regulated articles | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 |
| 301.53.7 (EAB) | Assembly and inspection of regulated articles (move notification) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 |
| 301.81.4 (a) (3) (IFA) | Interstate movement of regulated articles from quarantined areas. (phone call to local PPQ office) (Non Profit) | None | 38 | 1.00 | 38.00 | 0.35 | 13.00 | | | 0.00 |
| 301.81.4 (a) (3) (IFA) | Interstate movement of regulated articles from quarantined areas. (phone call to local PPQ office) (State local) | None | 23 | 3.00 | 69.00 | 2.85 | 197.00 | | | 0.00 |
| 301.81.4 (a) (3) (IFA) | Interstate movement of regulated articles from quarantined areas. (phone call to local PPQ office) (For Profit) | None | 99 | 2.00 | 198.00 | 1.35 | 267.00 | | | 0.00 |
| | SUBTOTAL | | | | 332.00 | | 493.00 | | | 0.00 |

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

TITLE OF INFORMATION COLLECTION DOCUMENT Domestic Quarantine

OMB NO. 0579-0088

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/(I)$

= (J)Average
NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | | ANNUA | L BURDEN | | | |
|------------|--|-------------------------|-----------------------|--------------------|---------------------------|--------------|----------------|-------------------|---------------------|-----------------------------|
| | | | | | REPORTS | | | | RECORDS | |
| SECTION OF | DESCRIPTION | FORMS NO (S) (If "none" | NO. OF RESPONDENTS | NO OF RESPONSES | TOTAL ANNUAL RESPONSES | HOURS PER | TOTAL HOURS | NO. OF RECORD- | ANNUAL HOURS PER | TOTAL RECORD- KEEPING HOURS |
| REGS. | | so state) | | PER RESPONDENT | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- KEEPER | (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) |
| | Cancellation of a certificate, limited permit, or compliance agreement (Farms) | None | 1 | 1.00 | 1.00 | 1.00 | 1.00 | | | 0.00 |
| | Imported fire ant detection, control, exclusion, and enforcement program (written appeal) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 |
| | Imported fire ant detection, control, exclusion, and enforcement program (enforcement recordkeeping) (Business) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | 1,900 | 2.00 | 3,800.00 |
| | Imported fire ant detection, control, exclusion, and enforcement program (written warning State) | None | 3 | 1.00 | 3.00 | 1.00 | 3.00 | | | 0.00 |
| | Imported fire ant detection, control, exclusion, and enforcement program (enforcement recordkeeping) (Farms) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | 100 | 2.00 | 200.00 |
| | | | | | | | | | | |
| | SUBTOTAL | | | | 4.00 | | 4.00 | 2,000 | | 4,000.00 |

| INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and | |
|---|-------|
| recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: | cols. |
| (D) &/or (I) = $13a$ (respondent is only counted once); cols. F & I = $13b$; cols. H & K = $13c$. | |
| | |

TITLE OF INFORMATION COLLECTION DOCUMENT

омв но. 0579-0088

= (J)Average (K)Total (F)Total (F)Total

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Tota$

| list as "1/6" & decimal | wiii dispiay. | | | | | | | | | |
|-------------------------|--|-------------------------|-------------|-------------------|---------------------------|-----------------|-----------------------|--------------------|----------------------|------------------|
| IDENTIFICA [*] | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | | ANNUA | L BURDEN | | | |
| | | | | | REPORTS | | | | RECORDS | |
| | | FORMS NO (S) | NO. OF | NO OF | TOTAL ANNUAL | HOURS | TOTAL | NO. OF | ANNUAL | TOTAL RECORD- |
| SECTION OF REGS. | DESCRIPTION | (If "none" so state) | RESPONDENTS | RESPONSES PER | RESPONSES (Col. D x E) | PER RESPONSE | HOURS (Col. F x G) | RECORD- KEEPERS | HOURS PER RECORD- | (Col. I x J) |
| (A) | (B) | (C) | (D) | RESPONDENT (E) | (F) | (G) | (H) | (1) | KEEPER (J) | (K) |
| | Issuance and cancellation of certificates (Farms) | None | 650 | 1.00 | 650.00 | 1.00 | 650.00 | | | 0.00 |
| | Issuance and cancellation of certificates (State) | None | 790 | 6.00 | 4,740.00 | 2.00 | 9,480.00 | | | 0.00 |
| | Issuance and cancellation of certificates and limited permits (Business) | None | 105 | 1.00 | 105.00 | 0.20 | 21.00 | | | 0.00 |
| 301.92.10 (P.ram) | Treatments (soil, greenery, debarking) (Farms) | None | 4 | 1.00 | 4.00 | 0.10 | 0.00 | | | 0.00 |
| 301.92.10 (P.ram) | Treatments (soil, greenery, debarking) (State) | None | 54 | 42.88 | 2,316.00 | 1.10 | 2,547.00 | | | 0.00 |
| 301.92.10 (P.ram) | Treatments (soil, greenery, debarking) (Business) | None | 4 | 2.00 | 8.00 | 10.00 | 80.00 | | | 0.00 |
| | SUBTOTAL | | | | 7,823.00 | | 12,778.00 | | | 0.00 |

| Į | INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and | | TITLE OF INFORMAT |
|---|--|-------|-------------------|
| | recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. | cols. | Domestic Quaran |

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Tota$

TION COLLECTION DOCUMENT омв но. 0579-0088 ntine

= (J)Average (K)Total (E)Average (I)Total (F)Total (F)Tot

| IDENTIFICA* | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | | ANNUA | L BURDEN | | | |
|-------------------------------------|---|-----------------------------------|-----------------------|--------------------------------|---|--------------------------|--------------------------------|------------------------------|---------------------------------|--|
| | | | | | REPORTS | | | | RECORDS | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) |
| 301.92.8 (P.ram) | Attachment and disposition of certificates and recordkeeping (Farms) | None | 650 | 1.00 | 0.00 | 0.50 | 0.00 | 650 | 3.00 | 1,950.00 |
| 301.92.8 (P.ram) | Attachment and disposition of certificates and recordkeeping (State) | None | 51 | 25.00 | 1,275.00 | 3.40 | 4,335.00 | 53 | 2408.00 | 127,624.00 |
| | Attachment and disposition of certificates and recordkeeping (Business) | None | 25 | 1.00 | 25.00 | 0.50 | 13.00 | 305 | 21.00 | 6,405.00 |
| 301.51.6(b) ALB | Compliance agreements and cancellation (Written appeal) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | 0 | 0.00 | 0.00 |
| 301.45.6, 301.50.6 (GM) (PSB) | Black Stem Rust Report (Farms) | None | 208 | 3.00 | 624.00 | 2.00 | 1,248.00 | 0 | 0.00 | 0.00 |
| | | | | | | | | | | |
| | SUBTOTAL | | | | 1,924.00 | | 5,596.00 | 1,008 | | 135,979.00 |

| | INSTRUCTIONS: Use this form when a single information collection document involved recordkeeping requirements. The totals of the figures in cols. should be entered in item 1: (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K | cols. | TITLE OF INFORMATION COLLECTION DOCUMENT Domestic Quarantine | ОМВ NO. 0579-0088 | | |
|--|---|-------|---|--------------------------|--|---------------|
| | (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something othe list as "1/6" & decimal will display. | | ** | | | DATE PREPARED |
| IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | | ANNUAL BURDEN | | |
| | | | | | | |

| IDENTIFICA | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | ANNUAL BURDEN | | | | | | | |
|--|--|--------------|---------------|-------------------|--------------|----------|--------------|---------|-------------------|------------------|
| | | | | | REPORTS | | | | RECORDS | |
| | | FORMS NO (S) | NO. OF | NO OF | TOTAL ANNUAL | HOURS | TOTAL | NO. OF | ANNUAL | TOTAL RECORD- |
| SECTION OF | DESCRIPTION | (If "none" | RESPONDENTS | RESPONSES | RESPONSES | PER | HOURS | RECORD- | HOURS PER | KEEPING HOURS |
| REGS. | | so state) | | PER RESPONDENT | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- KEEPER | (Col. I x J) |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) |
| 301.45.6, 301.50.6 (GM) (PSB) | Black Stem Rust Report (State) | None | 5 | 69.00 | 345.00 | 0.20 | 69.00 | 0 | 0.00 | 0.00 |
| 301.45.6, 301.50.6, 301.75.13 (GM) (PSB) (CC) | Black Stem Rust Report (Business) | None | 784 | 15.00 | 11,760.00 | 2.00 | 23,520.00 | 0 | 0.00 | 0.00 |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | | | | | | | | | | |
| | SUBTOTAL | | | | 12,105.00 | | 23,589.00 | | | 0.00 |

| recordkeeping requirem | se this form when a single information collection document involvements. The totals of the figures in cols. should be entered in item 13 | 3 of OMB-83-1: cols. | | TITLE OF INFORMATION COLLECTION DOCUMENT | | | | | | OMB NO. | |
|--|--|-----------------------------------|-----------------------|--|-------------------------------------|--------------------------|--------------------------------|------------------------------|---------------------------------|--|--|
| (D) &/or (I) = 13a (resp | condent is only counted once); cols. F & I = 13b; cols. H & K | = 13c. | | Domestic Qua | arantine | | | | 0579-0088 | | |
| = (J)Average | (F)Total/ (D) Total = (E) Average (H) Total/ (F) Total = (E) | | | | | | | | DATE PREPA | RED | |
| NOTE: The columns v list as "1/6" & decimal | will calculate automatically. If Col. E's response is something othe will display. | r than annually, i.e | e., 1/6 years, | | | | | | | | |
| IDENTIFICAT | TION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | • | | ANNUA | L BURDEN | | • | | |
| | | | | | REPORTS | | | | RECORDS | | |
| SECTION OF REGS. | DESCRIPTION | FORMS NO (S) (If "none" so state) | NO. OF RESPONDENTS | NO OF RESPONSES PER RESPONDENT | TOTAL ANNUAL RESPONSES (Col. D x E) | HOURS PER RESPONSE | TOTAL HOURS (Col. F x G) | NO. OF RECORD- KEEPERS | ANNUAL HOURS PER RECORD- KEEPER | TOTAL RECORD- KEEPING HOURS (Col. I x J) | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (I) | (J) | (K) | |
| | NO ACTIVITY FOR THE LAST 3 YEARS FOR THE FOLLOWING PROGRAMS; | | | | | | | | | | |
| | Compliance Agreement (European Larch Canker), (Oriental Fruit Fly) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.38.5 (BSR) | Assembly and inspection of regulated articles: issuance and cancellation of certificates (Written appeal for withdrawal and request for hearing) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.50.5(e) PSB | Issuance and cancellation of certificates and limited permits (Written appeal for withdrawal request for hearing) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| (CC) | Certificates and limited permits (Written appeal for withdrawal of certificates and request for hearing) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.80.4 (f)(ww) | Issuance and cancellation of certificates and permits (Written appeal for withdrawal request for hearing) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| | SUBTOTAL | | | | 0.00 | | 0.00 | | | 0.00 | |

| INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and | TITLE OF INFORMATION COLLECTION DOCUMENT | OMB NO. |
|--|--|---------------|
| recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. | Domestic Quarantine | 0579-0088 |
| (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total | | |
| = (DAverage | | DATE PREPARED |

= (J)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

| list as "1/6" & decimal | | | | | | | | | | | |
|--|--|-------------------------|-----------------------|--------------------|------------------------|--------------|----------------|-------------------|---------------------|--------------------------|--|
| IDENTIFICA | IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT | | | ANNUAL BURDEN | | | | | | | |
| | | | | REPORTS | | | | | RECORDS | | |
| | | | | | | | | | | TOTAL | |
| SECTION OF | DESCRIPTION | FORMS NO (S) (If "none" | NO. OF RESPONDENTS | NO OF RESPONSES | TOTAL ANNUAL RESPONSES | HOURS PER | TOTAL HOURS | NO. OF RECORD- | ANNUAL HOURS PER | RECORD- KEEPING HOURS | |
| REGS. | DESCRIPTION | so state) | RESPONDENTS | PER | (Col. D x E) | RESPONSE | (Col. F x G) | KEEPERS | RECORD- | (Col. I x J) | |
| | | | | RESPONDENT | | | | | KEEPER | | |
| (A) | (B) | (C) | (D) | (E) | (F) | (G) | (H) | (1) | (J) | (K) | |
| 301.87.5 (d) | Issuance and cancellation of certificates and limited permits (Written appeal for withdrawal of certificates request for hearing (sugarcane disease) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.95.5 | Written appeal for withdrawal of certificates and limited permits and request for hearing (European Larch Canker) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.32.6 | Compliance agreements and cancellation (Written appeal for withdrawal of certificates and limited permits and request for hearing (Oriental FF) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.38.6 (b) (BSR) | Compliance agreements and cancellation (Written appeal for withdrawal of compliance agreements) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.50.6 (PSB) | Compliance agreements and cancellation (Written appeal for withdrawal of compliance agreements) | None | 0 | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| 301.75.13(b) (CC), 301.80.5 (b) (ww), 301.85.5 (GN), 301.87.6, and 301.91.6 | Cancellation of a certificate, limited permit, or compliance agreement (Written appeal for withdrawal of compliance agreements) (Sugarcane disease), and (European Larch Canker) | None | | 0.00 | 0.00 | 0.00 | 0.00 | | | 0.00 | |
| | SUBTOTAL | | | | 0.00 | | 0.00 | | | 0.00 | |